1. Match the following Indian Martial Art
forms with their respective states:

Martial Art form State
1. Gatka a. Kerala
2. Kalaripayattu b. Tamil
3. Silambam c. Punjab
4. Cheibi Gad-ga d. Manipur

Which of the following option is correct?
a) 1-D, 2-C, 3-A, 4-B

b) 1-C, 2-B, 3-A, 4-D

c) 1-C, 2-A, 3-B, 4-D

d) 1-C, 2-D, 3-B, 4-A

2. Chikankari embroidery work that
involves use of white thread to make
flowers and other beautiful patterns is
famous in which state?

a) Kashmir

b) Punjab

c) Uttar Pradesh

d) Andhra Pradesh

3. Consider the following statements:

1. Arya Samaj was founded under the
influence of western thought by Dayanand
Saraswati.

2. The most phenomenal achievement of
the Arya Samaj has been in thefield of
social reform and spread of education.
Which of the following is incorrect about
Arya Samaj?

a) 1 only

b) 2 only

c) Both 1 and 2

d) None

4. Anandamath, a semi-historical novel by
Bankim ChandraChattopadhyay, is based
on which of the following civil uprising?
a)-Vizayanagaram revolt

b) Sanyasi revolt

¢) Indigo revolt

d) Dhundia revolt

5. Consider the following given below pairs
with respect to Mughal administration:

1. Diwan-i-Wazarat Department of Revenue
& Finanaces

2. Diwan-i-Insha Custodian of government
records

3. Diwan-i-Barid Military Department
Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d)1,2and3

6. The Sramans movement was origin to
many religioustand philosophical traditions
in India. Which of the following given
traditions has their root in Sramans
movement:

1. Buddhism

2. Charvaka tradition

3« Jainism

Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d)1,2and3

7. Consider the following statements with
respect to Aluaddin Khilji military reforms:
1. Alauddin Khilji maintained a strong and
huge standing army to safeguard his
empire.

2. He introduced the system of branding of
horses (dagh).

Which of the following below given codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2




1. fAeAT T AR AT 3¢ AT H 3Ah TAaad
a1 I T
AT 3T

1. IR

2. FeTRUTTE

3. Roie#d c Yola

4. ey aMg-I d \fog
frfaf@a # & Fia ar fasweT Tgr g°
a) 1-D, 2-C, 3-A, 4-B

b) 1-C, 2-B, 3-A, 4-D

c) 1-C, 2-A, 3-B, 4-D

d) 1-C, 2-D, 3-B, 4-A

THfeaa s
a I
b difde

2. el aTs T HIH fTHH Feil R 3177 FeI Jeot
AT F TIT Tthe YT &7 3T/ AT &, P Tsa &
RIGCURE

a) HIHR

b) gole

c) 3T e

d) 31Ter ucer

3. AR FUAT R AR X

1. 3 HATST & TAYAT GATele AIEA SINT qIeTHT
AR & gema & &y 715 o)

2. 3 GATS T T ITAY ST FAS R 3R
8T & JaR & & 7 W ¢

farafaf@d & ¥ &l 3T gaATsT F SR & 7T 8?2

a) shadl 1

b) shdel 2

c) 1 3R 2 gt

d) ®rE TEr

4. SfFH dgaceraTeaTy H Uh Y- Uefas sueara,
IeeHs; RFATaf@ad # ¥ frg aArRe RAgg w 3maRa
g2

a) fastgeroA Age

b) Tl e

c) 3f39 fagie

d) 4gfsar face

5. FITel YRATHA o Fae #H o & 18 Sifsat o faar e

1. QaTA-T-aeRTd Torea AR faa faemr
2. &rard-u-gar THRT RS &1 Aeeqd
3. §aTeT-U-aTie deg fasmer

A BT a7T st & & @i a1 wdr &7

a) a1

b)13R2&

c) shadl 1 3R 3

d1,23R3

6. ST 3Tl TRT H FS eTfie 3T ereifae RT3t
T 7 AT| AT 7 @ foFg IORT 7 ST 3MTeleled
3T 513 &

1. Sigy &

2. TTaTe ORI

3. ol gH

T e TT st F & i ar T g

a) haer1

by 13R 2 &

¢)ohael 1 3R 3

d1,23R3

7. T3l [Wersll de Rt & deer 7 foeAfafed
FUAT W TR F¥:

1. 3relT3ediel T&ersll & 379el THSY T FI&T & fov wh
AT 3R faeimer A= &

2. 3wgiel TSt I ST (TT) T JoTTelr & 1|

A T 1T st F F sl a1 T g

a) sad 1

b) shdel 2

c) 1 3R 2 g=t

daar13RaTE2




. Consider the following statements:
Low per capita income
Predominance of agriculture
Heavy population pressure

. Equal distribution of wealth
Which of the following are basic
characteristics of the Indian economy as
developing economy?

a) 1 and 2 only

b) 1 and 3 only

c) 1,2 and 3 only

d)1,2,3and 4

HON—®

9. National Income refers to

a) Current market value of all final goods
and services produced in a year.

b) Current market value of all consumer
goods and services produced in a year.

c) Current market value of all capital
goods and services produced in a year.

d) Both B and C.

10. Consider the following statements
with respect to Gross National Happiness
(GNI) index:

1. GNH index developed by the small
nation Nepal.

2. Cultural promotion is one of the
parameter of GNH.

Which of the following above statements
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

11. The new Epoch in which humanity,
through its technological prowess and
population of 7 billion, has become the
major driver of changes of Earth‘s physical
systems, including the climate, carbon
cycle, water cycle, nitrogen cycle and
biodiversityl. Which of the following given
epoch describe above definition?

a) Anthropocene

b) Oligocene

c) Eocene

d) Paleocene

12. World Development Reportl released by
which of the following below given
organization:

a) World Bank

b) IMF

c) WTO

d) UNESCO

13. Consider the following statements with
respect to inflation measuring indices in
India?

1. Consumer price index

2. Wholesale price index

3. GDP deflator

Which of the following given below codes
are correct?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d)1,2and3




8. frAfafad FU= W AR #:

1. ufa =fFa s &a

2. FY gerear

3. HAY STTHEAT FT Ga1d

4. ¥1eT T JATT faavor

Tepraefier 3degaedr & §9 & HRAT 37TTaedr Hr
AT faQart feefaf@a # @ #ia @ g
a) 1328

b) 1 3R 3 &

c) 1,2 3R Faer 3

d) 1,2,33R 4

9. TS 3T H dcdd §

a) T ¥ & Scuried Faft 3ifcier a&3i 3R Farsit &

TAATH SR Fed |

b) T a¥ & Scurfed Tt STSIFAr a3t 3R Aarait
TAATH SR Fed |

c) Teh ay¥ & Scarfed T gollared aeq3it 3R Jansit
TAATH SR Fed |

d) B 3R C gi=t|

10. Tehel TSI TR (GNI) Hrhich o TE
AT YT W fTaR FiL:

1. B &2 AU GaRT T GNH eehish |
2. HiEHTH FTIR GNH & R & ¥ T ¢
fFATITRT & & el AT HUA Ter- g2

a) shadl 1

b) dhdel 2

c) 1 3R 2 gt

dadar13iRagr2

11, 7797 37 FSraH AT, cdeheitehl 91T 3R 7 faforzrer v
ITSTEY & ATEAH &, G2t & aitfcien gonfordt & qRaciii &1
YA TTeieh o7 a1 8, [T STord 1y, Shielet Tsh, STel Tsh,
STSgIoTeT Tsh 3R Sia fafatrar enfaer § | eatoiad & T i
T o7 TREATT 3 FoR aford §?

a) Tt

b) 3nferendeT

c) 33T

d) aforaree

12. 27 [dera RlE feeafafad 78 e Hered ganT sy
IS

a) faeg d&

b) 3STATH

c) Seeg I3

d) JATHT

N

13. HA H HEEHIA 1 AT & Haer & eafaf@d sy«
9 fFaR &2

1. SUHIFAT Hed Fahich

2. Ueh He g Fahih

3. STEdT 3raehifer

i feu T ISt & & i aT FErg?

a)had 1

b) 1328

c)Hhdel 1 3R 3

d) 1,233




14. Consider the following statements
with respect inflation controlling
measures:

1. Supply side measures

2. Cost side measures

3. Easy monetary policy

Which of the following below given codes
are INCORRECT?

a) 1 only

b) 1 and 2 only

c) 3 only

d) 2 and 3 only

15. Which of the following given below are
Rabi crops?

a) Rice, maize, sorghum, wheat

b) Wheat, barley, oats, mustard

c) Wheat, chickpea, arhar, ground nut

d) Rice, wheat, linseed, oats

16. Which of the following has given
below measures taken under Land
Reforms in India?

1. Abolition of Zamindaries

2. Tenancy reforms

3. Land consolidation

4. Land ceiling

Which of the following given below codes
are correct:

a) 1, 2 and 3 only

b) 1, 2 and 4 only

c) 1, 3 and 4 only

d)1,2,3and4

17. Consider the following statements with
respect to National Investment Fund (NIF):
1. NIF was established in 2005

2. The proceeds from disinvestment will be
channelized into the NIF, which is to be a
part of the Consolidated Fund of India.
Which of the following below given codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

18. Consider the following statements
regarding the demand for constituent
assemblyl:

1. In 1935 the communist party of India
officially demanded a constituent assembly
to frame the constitution of India.

2. In 1938, Subhash Chandra bose
declared that the constitution of free India
must be framed without outside
Interference.

3. The constituent assembly elected on the
basis of adult franchise.

Which of the following statements are above
given INCORRECT?

a) 1 only

b) 2 and 3 only

c) 1 and 2 only

d) 3 only

19. Which article of the constitution of
India deals with the India‘s foreign policy
and promotes international peace and
security?

a) Article 51

b) Article 50

c) Article 49

d) Article 48




14. FereRifd =07 3ural & deer & feAfafad st
R foaR &L

1. 3mqfet wef 39T

2. I &t 3UT

3. 3 Alfgew ifa

ST U 310 FIST & ¥ i AT INCORRECT §?

a) shad 1

b)13R2&

C) hadl 3

d23iR3&

15. fFafai@d & & st €Y & S BHel 82
a) TGS, HeFhT, STOIT, g

b) 31g, Sil, 575, awar

c) g, T, 3RER, Yrhell

d) draer, A, rerdl, SiE

16. R # ${fA FUR & e hU 0 3u1dT & F ler @1
i fe=r I &2

1. STHIGRT T 3o elel

2. FRRIERY & gur

3. ofF FAHRT

4. 91fA Fr o

S U a0 FISt & & Dot AT TET B
a)l,23IR3&

b) 1, 2 3R 4 &aar

c)1,33R 48

d 1,2, 33R4

17. TS A3 &I (NIF) & da¢ H fHAefaflad sy« 9
faarR &Y

1. NIF &Y 19T 2005 :ﬁ’rgé;efr

2. fafaaer & grea 37 & NIF & detegst fohar sreem, i
R & TAThT IV FH Teh TEar &

A=) T v Pt & F et ar wh 2

a) a1

b) hdel 2

c) 1 3R 2 gt

daari1iRadr2

18. dfqem |1 & 79T F R H Feafaf@d suar )
faar %

1. 1935 H HRd T hEgieree It o RIS §7 F
R F TIAUTT T Fo1ret & foIT ver wfqem qur & ajar
&

2. 1938 H,FHIY g S & ©IVUT T foh FacT 7R &
TRAYTT Y JTedY gTdaT & 9T IR foRar Srer anfee)
3. AL AT IITH AAIOSR & MR W Aaia &t |
farAtai@d & ¥ T T HUF Tad &7

a) sad 1

b) 23R 3 &

c) hael 1 3R 2

d) 3@

19. $IRC & FIETeT T hleT T HeTede HRA i facer Afd
& waftr § 3R 3eRTsar enifer 3 e Y aerar gar 2
a) 30 51
b) 3Teda 50
¢) 3T 49
d) 3TeT 48




20. Consider the following statements
with respect to Charter Act 1833:

1. It made the Governor of Bengal as the
Governor-General of Bengal

2. The laws made under previous acts
were called as Regulations while laws
made under this act were called as Acts.
3. It ended the monopoly of East India
Company however company‘s monopoly in
trade with china kept intact.

Which of the following above statements
are INCORRECT?

a). 1 only

b). 3 only

c). 1 and 2 only

d). 1 and 3 only

21. Which of the following given below
statements is NOT salient features of the
constitution

a) Lengthiest written constitution

b) Blend of rigidity and flexibility

c) Federal system with more powers to
states

d) Parliament form of government

22. Consider the following statements
with respect to principles of Indian foreign
policy:

1. Promotion of world peace

2. Anti-colonialism

3. Racialism

4. Non Alignment

Which of the following above given
statements are<«correct?

a) 1 only

b) 1 and 3 only

c) 1, 2 and 3 only

d) 1, 2. and 4 only

23. Which of the following conventions is
signed by India?

1. Nuclear non-proliferation Treaty (NPT)
2. Comprehensive test ban treaty (CTBT)
Which of the following codes given below is
correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

24. Consider the following statements with
respect to Charter Act-1853:

1. Act separated the legislative and
executive functions of Governor General‘s
council.

2. It introdueced for the first time local
representation in the Indian (central)
legislative council.

3. Itdintroduced an open competition
system of selection and recruitment of civil
servants.

Which of the following given below codes
are INCORRECT?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d) None

25. Consider the following statements with
respect to features of parliamentary
government in India:

1. Presence of Nominal and Real executives
2. Majority party rule

3. Membership of ministers in the
legislature

4. Dissolution of upper house

Which of the following given below codes
are correct?

a) 1 and 2 only

b) 1 and 3 only

c) 1, 2 and 3 only

d) 1, 2,3 and 4




20. I ATATTIH 1833 & TIY H eIl HY=AT
R foaR &L

1. 3 SIS & IGeAX DT SN o TR -STeI el FATAT
2. Mo Fcdl & dgd A1V IV FlefaAl 1 A gl
STl 47 Sfeifeh 58 JfAfAge & dge =TT 7T Heft o
sifafaas ser Srar o

3. 3 3¢ 3T YT F THTARR I FATCT T fear
gTelifeh el o TTY SATIR H HYeiT FI THITUHR sIAIR
LTl

ffaf@a # @ Sl a1 Ha T g?

a)lgr

b) dael 3

c) shadl 1 3R 2

d) shael 1 3R 3

21. A U 9T YA 7 F leT AT HiGUTT H 7T
faQrard =t &

a) Y weT forf@a Iy

b) FeRdT 3R eTdiierdsT I Hs0T

¢) T3t I 31fRe AfFadt & arr gEfig yomelr

d) TG TIHR AT ¥

22. R fager M & faguidr & dau 7 Frafafaa
FUAT W faR F::

1. faeT enfd &r serar gt

2. 3ufagerare-favied

3. Sifaarg

4. refRuaarn

FW QT 31T HUAT F T FieT- AT TEY £°
a) sha 1

b) 1 3R 3 &

c) %had 1, 2 3R 3

d) 1, 2 3IR4 FHaa

23. IRd & AR F ¥ i T1 4= gEaeiRd
forar &7

1. 9RAT AR G (NPT)

2. <g19eh g{Y&ToT gideer i (CTBT)

A=) T v Pt & F et ar wh 2

a) a1

b) hdel 2

c) 1 3R 2 a=r

daari1iRadr2

24. IIET ATATHIH 1853 & HITY H AT f@d HUAT W
foarR &3

1. MARAIH & T TR FI3 AT F FURN 3T FRIERr
1t Y 37T FT T

2. 38 Ugell IR T gfafafca sRd (Fd) fawre
gRwe & el fomar|

3. 8= Aol Yaehi & TeT 3R o7l T Toh Golr
TTIIIRTCT JOTe I T

T f&T 91T FIsT # T i T INCORRECT 87

a) sad 1

b) 13k 28

¢) 2 3R 3 Faa

d) ®rS TEr

25. AR H HHET THR FHI TAAYATHT & Faer H
AR U« R TR FiL:

1. st 3R areafas iRt fr sufeafa
2. 9g9d ol &1 WA

3. faenfR¥esr & AR i Jewgar
4. 398 He 1 faues

ST ST 3T FIST H I HieT AT TET 87
a) 1328

b) 1 3R 3 &

c)hael 1, 2 3R 3
d)1,2,33Rk4




26. Which of the following are members of
Bay of Bengal Initiative for Multi-Sectoral
Technical and Economic Cooperation
(BIMSTEC)?

a) Bangladesh, India, Sri Lanka and
Thailand

b) Bangladesh, India, Sri Lanka and
Singapore

c) Bangladesh, India, Sri Lanka and
Maldives

d) Bangladesh, India, Maldives and
Myanmar

27. According to the DR B R Ambedkar
which of the following given below is Novel
Feature of the Constitution?

a) Fundamental Rights

b) Directive Principles of State Policy

c) Fundamental Duties

d) Preamble

28. Consider the following statements
with respect to secular state of India:

1. The term ‘secular‘ was added to the
Preamble of the Indian Constitution by
the 44th Constitutional Amendment Act of
1978.

2. The Preamble secures to all citizens of
India liberty of belief, faith and worship

3. The State shall not deny:to any person
equality before the law or equal protection
of the laws

Which of the following given below codes
are correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d) 1,2 and 3

29. Alma-Atal declaration related to which
of the following sector?

a) Education

b) Environment

c) Health

d) Economic Reforms

30. Consider the following statements with
respect to Justice in Preamble of Indian
Constitution:

1. The term _justice‘ in the Preamble
embraces social and political justice only
2. A combination of social justice and
political justice denotes.what is known as
distributive justice’

3. The ideal of Justice has been taken from
Russian Revolution

Which of the following below given codes
are correct?

a) 1 only

b) 1and 2 only
c)-3 only

d) 2 and 3 only

31. Zangger Committeel constituted to
control which of the following given below?
a) Chemical weapons

b) Biological weapons

c) Weapons of Mass Destruction

d) Nuclear weapons




26. fAFAARET 7 & lof Sg-8NT Toheliehr 3R 3
HEIWT (BIMSTEC) & foIT & 31T% s9mer sfafefea &
e §?

a) TGS, HRd, Hcierr 3R UBels

b) STATER, R, Aeler IR FHaTR

c) ST, HRd, At 3R AT

d) ST, AR, ARG AR FIAR

27. AR & IR IFESH & AR, AeAfeiad F &
FieT AT AiqUTs & Afdd HaR g7

a) #Fifers ARHER

b) T=T A & Agers faguid

C)WW

d) FEdTastt

28. HRA & UHRUET TT & T 7 feaafaiad Huar
R AR &%

1. secular UsE FHT 1978 & 44 J HIUTTAh FAET
AT garT AR GiAeTsT hr gEaTaT H ST Iar
qr|

2. YEATGAT TR & THY AR I faearw, faeam 3R
Gl T T FeTel il &

3. ST hlelel TT el o FHT HIETUT ¥ gl fohdir ofr
SIfFT Sl FATAAT  SARR gl Halm

AR U T ST H F il A7 TET B?

a) shadl 1

b) 1328

c) 2 3R 3 Faer

d1,23R3

29. 3CAT-3AT HIVOT fAeATafed # & g &7 & et
g2

a) faram

b) TTaRoT

C) FarE"y

d) 3nfds gur

30. ARAT GIAYTeT T GEATTeTT H =T & JaY H
AR U« W AR FiL:

1. SEATGT H =37 M6 hdel ATATSIh IR STl =T
Y AT T 2 |

2. AT =1 3R TT=ifdesh #aT T Ueh AT Ig
gATaT & T [AaRoTcHs 1T I AT FHgl ST &

3. =TT BT 3TET TG shifd & forar AT §

A fow 1T F1E & T a7 TE &?

a) a1

b) 1 3R 2

c) Hhael'3

dy2 3R 3 &

31. AFfaf@a # & frae FRd a3 & fav SR
AT 1 7o fomar arar?

a) TAafa® AR

b) Sifas AR

c) Frfeen fa=rer & AR

d) TRA] g

10




32. Which one of the following statements is not
correct-

a. Igneous rocks are solidified from minerals in a
high temperature molten state.

b. Igneous rocks have layers

c. Sedimentary rocks are layered.

d. Metamorphic rocks are formed from igneous or
sedimentary rocks.

. Igneous rocks are the results of-
Erosinal activity
Folding activity
Seismic Activity
Volcanic Activity

cooe

w

4. Which one of the following statements is not
correct?

Autumn Equinox-23' September

Summer Solstice- 21% June

Vernol Equinox- 23" March

Winter Solstice- 22" December

oo oo

35. BepiColombo mission was launched
by European space agency to which of the
following planet?

a) Mercury

b) Venus

c) Jupiter

d) Saturn

36. RUCO initiative is launched by

a) FSSAI for conversion of used cooking oil
to bio-diesel.

b) FICCI for speedy implementation of
foreign investment projects.

c) Ministry of agriculture and farmer
welfare for rural-urban collaboration in
farm produce.

d) Ministry of rural Development for promotion to
cooperative societies.

37. Consider the following statements with
respect to the Transiting Exoplanet Survey
Satellite (TESS) Mission:

1. The TESS iscthe next step in the search
for planets outside of our solar system.

2. The mission will find exoplanets that
periodically block part of the light from
their host stars, events called transits.

3. The TESS mission was launched by
European Space Agency.

Which of the following given below codes
correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d)1,2and3

38. The process under which farmers grow
trees for commercial and non-commercial
purposes on their farm lands is termed as?
a) Rural forestry

b) Agro-forestry

c) Farm forestry

d) Social forestry

11




32. RFATATRT & ¥ T A1 HUT FEY & §-

a. 3TAY Tl 3T dTIHNT arel fyerel 3raear 7
Gistt & ST S €1

b. 3T TeeTAT H Il gl &

c. daoe gcers Talkd adr &

d. AerATThes Teert HEAT AT IEFET TeemT A deiat &

33. 39T Il §Hh IRUMH g-
a. WA fafafer

b. dg afafafer

c. hdr aifafafer

d. Saremedr aifafafer

34. AFAfAf@aT & & PleT GT FUF TET AT 87
a. R faya -3 fAdaT

b. IeHRTNA Hehifd- 21 ST

c. Flicr sfFaered- 23 AT

d. efdepTelist Hehifd- 22 fEHaT

35. BepiColombo ARl & U 3iaRer verdr o
fafaf@a & @ g 718 & v afea fomar are

a) g?-l'

b) ek

c) ﬂ%’@lﬁ'

d) afer

36. RUCO Ygel fehdieh GaRT & &l 715 §

a) FSSAI §RT ST ad $I 911 Sl A ®UTARYT &
fagi

b) fagelt Aaer aRAe=3it & caRa Frateags & faw

fOrarehT |

c) FY HATerT AR HTV 30T & FrIoT-2Aed Feder & faw
fordTeT SheaoT|

d) HghRT FTATIAT Y derar &1 & farw arAor fasra
HATAT |

37. Tt TaraIcelaie ad dcase (TESS) fAea & datr
H rafai@d U« ) RER &it:

1. AR O #so & S18T& I8T HI @WieT H TESS 3731l
HCH gl

2. fAereT T tFAICeacy Aol S GHT-FAT W 39
AT AR & JehTer &7 REAT ISy A §, T3 &l
URETH shel STTaT gl

3. TESS e &l gUdir 3idfer vsid gary diea fahar
IRT AT

T U 1T ISt F F BT AT T@ET 8

a) sad 1

b) 13k 28

¢) 2 3R 3 Faa

d1,23R3

38. fohE JfshaT & g fohaTe 31et W 1 8ff7 X
arforieas 3R A-afoifoge 3egeat & fav U 3ama g2
a) JTHOT arferehr

b) H-arfetehr

c) @d arferhr

d) TSt arferehr

12




39. Which of the following oceanic current
is correctly matched?

Oceanic Current Location

1. Labrador Current South Atlantic
Ocean

2. Canaries Current North Atlantic
Ocean

3. Oyashio Current Pacific Ocean

Which of the following code is correct?
a) 1 and 2 only

b) 2 and 3 only

c) 3 only

d)1,2and3

40. The rainfall mostly experienced in
winters. It is also known as Subtropical
Winter Rain Zone. The vegetation is
mostly deciduous type. In summer, short
stature, moisture retentive trees especially
citrus fruits grow here.|

Which region is defined in the above
lines?

a) Mediterranean region

b) Tropical monsoon type

c) Tropical grasslands

d) Temperate grasslands

41. Which of the following is correctly
matched?
Hills State
1. Dafla Hills Meghalaya
2. Ramgarh Hills Chattisgarh
3. Cardamom Hills ~Kerala
4. Mahadeo Hills Telangana
Which of the following code is correct?
a) 1 and 3
b) 1, 2 and 3
c) 2and 3
d)-1, 2 and 4

42, Parkland Landscape®is related to which
type of forests in India?

a) Evergreen Forest

b) Tropical Thon Forest

c) Dry Deciduous Forest

d) Montane Forest

43. Consider the following pairs:

Important term Associated area
1. Karewas Arunachal Himalayas
2. Barchans Indian Desert
3. Kayals Coromandel Coast

Which of the above pair is correctly
matched?

a) 1 and 2 only

b) 2 and 3 only
c) 2 only

d) 1,2 and3

44. Tropical wet evergreen-type forest of the
western ghats, extends to over 600 square
kilometers and provides a habitat for three
big carnivores- tiger, leopard, and wild dog-
amongst several other species such as lion-
tailed macaque. The place is also origin of
three rivers- the nethravathi, the Tunga
river and the Bhadra river.The above
description defines which of the following
national park?

a) Rajiv Gandhi national park
(NAGARHOLE)

b) Bannerghatta national park

c) Bandipur national park

d) Kudremukh national park
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39. fAFafafad & & e a1 T gaTe L & | Aol
Qe 82

AR ERTY TUTT

1. SISTER HIRTY T80T Taiesd
HETHTIR

2. FHeAdeT HIRTY AT 37eclifes AGHTR
3. T gRIY TeITd AR
ffaf@a & O Sl ar #is a@gr g?

a) 1328
b) 2 3R 3 &
c) hadl 3

d1,23R3

40. 9 SATETR BIEA 7 31779 BN &1 39

3ursuTeh fea i efidehTellel auT &1 & & & 8T ST 1T
g1 T SATETaR qoTaTcdt Wbk T gicr g1 arfavar &,
BIC &G, AT dTel JaT faAY & § W el TgT 391 g
IRIFA dfFaar & g & Fr e frar amar g2

a) YALIANRIY &

b) 3SUThR I AT ThR

c) 3SUTh SN T1g & AT

d) frarsor Trg & HAereT

41, PFafaf@a § @ i T8 &1 F A Wiar g?
feew e

1. el lge@  A™TE

2. THITG ffew  SAraeTg

3. gergdl fgedw T

4. Agled fgew  AeiRNAT
frafaf@a # & &l ar i agr g»
a) 13k 3

b) 1, 2 3R3

c) 2 3iR3

d)1, 2 3R 4

42, Giehols oty R H 5T TR & &l ¥ Fafd g7
a) HETTER de

b) SIe AT BRI

<) ‘\Tﬁ?m—cﬁ'aﬂ'

d) At ot

43. AFfafad geat « foar X

HgcaqoT eree; Heey &1

1. HRaT 35U RHAT

2. qaid 33y 3¢

3. AT PRIFSA dC

3IRIFT SAIST H T ieT TTFE €T T Hol T 7
a)13R 28

b) 23R 3 &

C) Shadl 2

d1,23R3

44, 9T gTe & 3SUTRCTHT 3T TST9eR TR &
STl 600 W 318k ol foheaiey o et §U & 3R AT 53
SR R-o aTel Ak & foT ve foiard T4 gae ad 8
Ig TUTT ot AT o 8T 31 g- aiach, gam «Aer 3R
T 18T | IWd faaver Aeafafla & & v g
3eTeT T IR elm &7

a) TShT IMel ST 38T (NAGARHOLE)

b) SeaATEEeT IS el

c) SETGX ASEHA AT

d) AT TSI 3T
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45. The Chipko Movement

1. Was an environmental movement to
prevent cutting down of trees

2. Raised the question of ecological and
economic exploitation

3. Is a movement against alcoholism as its
broadened agenda

4. Demanded that local communities
should have control over their natural
resources

Select the correct answer using the code
given below.

a) 1 and 2 only

b) 2 and 3 only

c) 1, 3 and 4 only

d) 1, 2, and 4

46. The logo of which of the following
famous organizations is a Giant Panda?
a) World Wildlife Fund or World Wide
Fund for Nature (WWF)

b) International Union for Conservation of
'Nature and Natural Resources (IUCN)

c) United Nations Educational, Scientific
and Cultural Organization (UNESCO)

d) United Nations Environment
Programme (UNEP)

47. Multilateral Convention to implement
Tax Treaty Related Measures to prevent
Base Erosion and Profit Shifting (BEPS) is
framed by which of the following
organization?

a) World Bank

b) IMF

c) OECD

d) ADB

48. Consider the following credit rating
agencies:

1. CRISIL

2. MOODY"s

3. FitchRatings

4. Standard and Poor‘s

Which of the following is Indian rating
agency?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d) 1, 2 and 4 only

49. Consider the following statements with
regard to doubling the income of farmers:
1. Implementation of electronic national
agriculture market (e-NAM)

2. Creation of more farmer producer
organizations (FPOs)

3.Increasing the farmer produce markets
4. Ware house receipts financing.

Which of the following statements are
INCORRECT?

a) 1 and 2 only

b) 2 and 3 only

c) 3 and 4 only

d) None of the above

50. Which of the following given below
regimes used by financial creditors to
recover the credit they given?

1. Insolvency and bankruptcy code (IBC)
2. Debt recovery tribunal (DRT)

3. Lok Adalat

4. SARFAESI Act

Choose the correct code given below
correct?

a) 1 only

b) 1 and 2 only

c) 1, 2 and 4 only

d) 1, 2,3 and 4
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45, ger 3ncrereT

1. USt & FeTS P Aehet & T Tk qATAOT 3TTeleT AT
2. gTREAfae® 317 30w vt & Farer &1 3amr

3. QRIS F fWATH 39 A9 TSl & & & AT
foar|

4. 8 AT T TUAT FHERT T 39 Jrepfceh TATErA
9T fAIHT g =T

AT f&T 91T I3 &1 3TN FXeh LT 3T oA |

a) shaer 1 3R 2

b) 23R 3 &

c)1,33R4&

d 1,2, 3R4

46. AFAfAf@T A @ e Ay Gorast & o
[EMICCAR S EIN

a) faea g=arsita &I I Jhid & fow favg sardr e
(SSeE=TD)

b) 'wehfal AR drehfcier FETEET (IUCN) & EE&T0T & foIw
HRTSET |

¢) Tgerd Irsg ATeTh, deiTfaren 3R AEhiden Haraet
(ForEn)

d) EgeFcT TS ATaROT Hdshe (UNEP)

47. 99 W AR gifthe RIfFCT-(@igdiod) &t dovat &
foT &Y ey Feely 3T A1 L R 6 faw sguafa

TFEAS AFfafld 7 @ T8 Hareel garT g fmar
T R

a) fawg d&

b) 3MSUHATH

c) e

d) ADB

48. fArafaf@da sfse I vefaar W AR 1

1. R
2. MOODY'‘s
3. frafer

4. ATS 3R T
fArafafaa & & Fla s YT weie g2
a) $hadl 1

b) 13k 28

c) hael 1 3R 3

d) 1, 2 3R 4 Faa

49. ThATaT T 3T ST & T H fetfori@d
FUAT W [TTR FY:

1. SolFeiicieh TG H Y ST HT HRATaAT (e-NAM)
2. 31fF fhEATT 3cuTeeh TISHAT HT AT (THUT3M)
3. fhdTsT Scutee STeIRT & gefer

4. IIY 139 wifed famdiyo|

fAFAfaf@a 7 & T G FY INCORRECT &?

a) shadl 1 3R 2

b) 23R 3 &

c)33R4&

d) 3WFT H A PIS oTgf

50. o AIeRT aRT 39T fahT 7T HOiT Sl gred Fe
& forw faea & @ &t a1 s fear s g2
1. fearem 3R fearforamast s (1BC)

2. T G FITATTHIOT (DRT)

3. &l 3ereld

4. SARFAESI 3ifafaae

=T fem 1T ey s oi?

a) a1

b) 13k 28

c)hael 1,2 3R 4

d 1,2, 334
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51. Consider the following statements:
1. The international court of justice (ICJ)
is the principal judicial organ of the
United Nations (UN).

2. The court is composed of 15 judges,
who are elected for term of 6 years by UN
general assembly and Security Council.
Which of the following statements are
correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 Nor 2

52. Enabling clausel which is recently in
news, it is related to which of the following
multilateral institution?

a) International monetary fund (IMF)

b) World Trade Organization (WTO)

c) World Bank (WB)

d) United Nations (UN)

53. Recently published Global EV
(Electric Vehicle) Outlook® report is
published by?

a) World Energy Council

b) IRENA

c) World Bank

d) International Energy Agency (IEA)

54. Consider the following statements with
regarding to National Statistics
Commission:

1. The Government of India through a
resolution dated 1stJune, 2005 set up the
National Statistical Commission (NSC).

2. Commission was set up on the
recommendations of Bimal Jalan.

3. NSC with the mandate to evolve policies,
priorities and standards in statistical
matters.

Which of the following given below codes
are correct?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d) 1,2 and3

55. Consider the following statements with
respect to Central Pollution Control Board
(CPCB):

1. CPCB is a statutory organisation.

2. CPCB constituted under the provisions of
Environment (protection) Act, 1986.

Which of the following below given codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

56. Consider the following statements:

1. The tribes are found in Niyamgiri Hills of
Odisha.

2. They are among the best conservationists
in the world and are known for their
defense of their forested habitat against
industrialization.

Identify the tribe:

a) Dongria Kondh

b) Bhumias

c) Koyas

d) Santhals
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51. fFafaf@a Fuar W faar #i:

1. JCRTSET ~AMATY (ICJ) HFFT TE (UN) 3T 987G
=R 37T ¥

2. 7T 15 wOrareel @ & 8, Toeg @G Tsg
HETHST 3R G&T IR gaRT 6 st & forw gar S g
fAFATITET # & SieT AT HUA Tel 67

a) shad 1

b) hdel 2

c) 1 3R 2 g=t

d)aTdr1aR2

52. gTel & & @eRT # ¥&T ‘Enabling clause’ T8, a8
fArfafad # & fre sguelia deue 8 d@fod &2

a) 3TeRTSERT Hel 1Y (IMF)

b) faed SR FeraT (WTO)

c) faeg & (WB)

d) §gF TS (UN)

53. Tl & H USRI Jollael 3aT (Solfdee dTge)
3M3Cel® published RUIE foheh SanT Jeh1fRld &I 71582

a) faeg Fa uRwg
b) IRENA
c) faeg 8+

d) IRTET FaiT T (IEA)

54. TSGR FIFETHT 3T & Toy F At Hyar |
foar =l

1. HRA THN & 1 37, 2005 & Teh Hehod o ATLIH 4
TSEIT FITETehT 3T (NSC) S TATIAT Fr |

2. 3TAET ST TATIAT T ST I FwriRel o i 718
AT

3. iR At H Afadr, wrafAsanit 3R #ast ar
IR Tad X & TAT AT & ATY TAvEdT &l fear v |
A BT a1T Pist & & @i a1 wd &7

a) a1

b) 1328

c) shadl 1 3R 3

d1,23R3

55. HAT 9GyUT 70T 5 (CPCB) & way # raAfafad
FUAT IR faar

1. CPCB.U& auifaieh Terae gl

2. gHfaRoT (TeTon) fAfATH, 1986 & watm=i & dgd
e & aTaeT ga 2 |

A T 1T ISt F A sl a1 Ty g

a) sad 1

b) shdel 2

c) 1 3R 2=t

daar1 3R 2

56. fAFafaf@d FU=T W faar =

1. STetanta 3NfEem & A feq & 9w aa &1

2. 9 gfarar & gadss wxeEedt 7 4 8 3R

e fRIRToT & f&eT® 39t et & fAara TUTeT I &I
& foT o S §

SeToTTicl & qgdTat:

a) SITIRAT i

b) sifFaTE

c) I

d) gorer
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57. The alliance to end plastic wastel is
an initiative to the dream of a world
without plastic waste a reality. Which is
an initiative of?

a) UNEP

b) World Bank

c) Non-profit organization

d) IUCN

58. Consider the following statements
with respect to Vikramshila Gangetic
Dolphin Sanctuary (VGDS):

1. The VGDS is located in Uttar Pradesh
2. It is the only dolphin sanctuary in the
country

Which of the following given below codes
are INCORRECT?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

59. Consider the following statements
with respect to Insolvency and
Bankruptcy Code (IBC), 2016:

1. IBC applied to companies only

2. IBC provides for a time-bound process
to resolve insolvency

3. The decision to initiate resolve
insolvency within a 90day period

Which of the following codes below given
are correct?

a) 1 only

b) 2 only

c) 2 and 3 only

d) 3 only

60. Consider the following statements with
respect to national commission for
protection of child rights (NCPCR):

1. NCPCR is a constitutional body

2. The Commission‘s Mandate is to ensure
that all Laws, Policies, Programmes, and
Administrative Mechanisms are in
consonance with the Child Rights
perspective as enshrined in the
Constitution of India and alse-the UN
Convention on the Rights of.the Child.
Which of the following given below codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor

61. Blue Flag Certification‘ is awarded for:
a) Rain water harvesting efforts by various
departments/offices.

b) Clean and safe beaches.

c).Safe drinking water facilities.

d) Clean and healthy lakes.

19




57. TAT¥eeh Hax I AT Hiel & AGIAS Teh VAT
gfordm & AU & oI U ugd 8, foree celifee ser &
ATE TRl A8l & T T6eT 52

a) guaasdr

b) faeg d&

c) IR-ATHHRT FaTeeT
d) IUCN

58. fasaARIar IeTcHS Sifehs FHIRTT (VGDS) &
ey A Reafaf@d st ) IR &

1. IS 3R YU A Rya g

2. TG A FT THHATT SlTehs] JHIRTY §

A T 37T FIst A F &l T INCORRECT &?

a) %had 1

b) Faer 2

c) 1 3R 2 gt

daariiRag2

59. fearer 3R fearferardet |igdr (IBC), 2016 & Haer &
At U=l W TR #iL:

1. IBC &9l 9 € o) glr &

2. IBC $=alcad! &l §T el o TolT GHIGCY Ulhan
9eTel LT &

3. 90 &= & 3rafer & fax Tearer TATT hr ggel et
1 Ao

Ay T 71T st 7 F i a1 @ g2

a) shadl 1

b) dhdel 2

c) 2 3R 3 Faer

d) 3@

60. aTeT HTUHRT T FI&T & v T Jmier & daer A
fArafaf@a sy« WX faar &I (NCPCR):

1. TR v gaunfaes e §

2. 3TENT T ST Tg FioARed el & fow § foh @l
FIeTe, ST, A R FATAsh dF AR & Flauet #
fAfee arer 31ftreR & efSeantor & 3r7wa § 3R arer it
W HYF TS Fealet 8 &

A=) T T PIEt & F et ar wh 2

a) a1

b) hdel 2

c) 1 3R 2 g=r

dyFar 13T

61. S0 FelaT FHTUTT: & T YeTel fohar SireT §:

a) fafdiesr Aol /. FraTerdl SanT auT STe HaI=T & 9aTd |
b) Faes IR AT Fg <

c) FRI& JaSTer T glaem|

d) Too AR TaEy sl
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62. Special & Differential Treatment
(S&DT)I provisions followed by which of
the following Multilateral Institution?

a) World bank

b) IMF

c) WTO

d) ADB

63. Consider the following statements
with respect to Small Farmers Agriculture
Consortium (SFAC):

1. Small Farmers Agribusiness
Consortium (SFAC) is an Autonomous
Society promoted by Ministry of Tribal
Affairs

2. SFAC is entrusted of National
Agriculture Market Scheme on e-platform
to progressively free agricultural trade and
offer price discovery to farmers.

Which of the following given below codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

64. Consider the following statements with
respect to Financial Action Task Force
(FATEF):

1. The Financial Action Task Force (FATF)
is an inter-governmental body

2. The objectives of the FATF are to set
standards and promote effective
implementation of legal, regulatory and
operational measures for combating money
laundering, terrorist financing-.and other
related threats to the integrity of the
international financial system

3. India is founding member of FATF
Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 ‘only

d) 1,2 and3

65. Consider the following statements with
respect to National Company Law Appellate
Tribunal (NCLAT):

1. NCLAT was constituted under Insolvency
and Bankruptcy Code, 2016

2. NCLAT is also the Appellate Tribunal for
hearing appeals against the orders passed
by Insolvency and Bankruptcy Board of
India

Which of the following below given codes
are correct?

a) 1 only

2 only

Both 1 and 2

b)
<)
d) Neither 1 nor 2
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62. faerw 3R fadices 3R (TH Us 1) by Jraur
ﬁmﬁ@aﬁﬁma@mwanﬂaﬁmﬁmméﬁ

a) g d+

b) 3TSTHTH
EC K]
d) ADB

63. B ThaTel Y HAITCTH (THUHTH) & Hetr &
fafaf@a Fu«l ) TR«

1. g Tl Y sga@Tg HEETH (SFAC) STaTTed
HATHCT & HATA GaRT FaTcid Teh TITIT AIATIET &

2. THUHUH! &l §-Celchid T AT FHiY ST Arofell &
forT TR T SAIR HFd ket iR haTel Y Fog v
QYT T 9erher HT ST B

e fET 7T ISt 7 & Sl 67 Fel 82

a) shael 1

b) el 2

c) 1 3R 2 gt

dyaar1ik=agr2

64. TN FIETS 1 Il (FATF) & Fa8 H Aot H=T
1. IS FRITeT TarTeT Tk B (FATF) Ueh 3R -TRaRY [T
e

2. THUETUT &l 3G ATTh! &l TR el X &l
QTY, HTchaTeT TGN AR ARRTSE T TR JoTelr shr
TGS & AU 31 HIT TR A AT & fow Hieg,
fafarame 3k afarere 3urt & gardT srafeade Fi serar
ST R

3. TR FATF &l TTUTIH TSI §

T fEU 91T ISt H & hisT AT TET 67

a) hael 1

b)1 3R 28r

c) 2 3R 3 &hae

d) 1,233

65. TSEIA YA TofsT AT FATATTFIOT (NCLAT) & Heer
H PR F2e W R 3

1. TTHIUETUCT T ITSA SeaTed T US ShiCHT IS, 2016
ded fhar I ar

2. TAHTTATET SHIeTHT US dohieHl a1 garT a1k el &
T 31diter 1 GeraTs & Torw el =ararfesor o &
A RRuavRESiAaRT AT T 82

a) hael 1

b) shdel 2

) 1323t

d)sTar 13 AEr2

22




66. Consider the following statements
with respect to Geographical Indication
(GI) tag:

1. A geographical indication tag is used
for an agricultural, natural or a
manufactured product (handicraft and
industrial goods) originating from a
definite geographical territory.

2. GI tag validity is for 20 years

3. Geographical Indications Registry is
located in New Delhi

Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d) 1,2 and 3

67. Consider the following statements
with respect to Pradhan Mantri Shram
Yogi Maan-Dhan (PM-YSM):

1. It introduced for both organized and
un-organized workers

2. Beneficiary he/she should be an
Income-Tax payer

Which of the following below given codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

68. Article 35A of Indian Constitution
deals with which of the following?

a) Special status to Jammu and Kashmir
b) Property rights to people of Kashmir

c) Allows the Jammu and Kashmir
legislature to define permanent residents
of the state.

d) Military rule

69. Consider the following statements with
respect to United Nations Convention to
Combat Desertification (UNCCD):

1. UNCCD is a voluntary international
agreement linking environment and
development to sustainable land
management.

2. The Convention addresses_ specifically
the arid, semi-arid and dry sub-humid
areas, known as the dry lands, where some
of the most vulnerable ecosystems and
peoples can be found:

Which of the following below given codes
are correct?

a) 1 only

b) 2 only

c) Both land 2

d) Neither'1 nor 2

70. Consider the following statements with
respect to Purchasing Managers Index
(PMI):

1. PMI is an indicator of manufacturing
activity only

2. It is a survey-based measure that asks
the respondents about changes in their
perception of some key business variables
from the month before

Which of the following given below codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2
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66. silaNToIeh Tohd (SN31MS) &91 & Taw & AeaAfai@a
FYAT R TTTR B

1. T dHtanfores Tohd &1 T 3T U ATaa sftanfers
& § 3cUeal Ueh iV, TThiceh AT Ueh ATAT 3cure;
(EEdsar R 3 arATe) & faw o smar g
2. T3S EaT 1 FEIAT 20 AT o folT &

3. sitenTeren Henel TSI 1S feooll 7 FPUT &

MR RuavHEt A F T arad ¥

a) shae 1

by 1328

c) 2 3R 3 shaer

d)1,23R3

67. TTTHAT 53 T ATA-T (NUH-ITSTHTA) F HIT
fArfafad Fo=t v R H:

1. Ig Farfod 3R IR-Farfaa sfdent et & forw o« fomar
T

2. THTf B IS STAT BleAT AT

MR RuavHEt T F T arad ¥

a) shael 1

b) dhaer 2

c) 1 3R 2 gt

dyaar1ikagr2

68. $TRCATT AUt 1 3ieTeae 35A fedfaf@a A @
[EREIBECIBC Y

a) 5TFA 3R FR F1 fad g

b) FFHR & AT & Ul T TSR

¢) STFH 3R AR Taun&ient 1 Tsg & TR foartadr i
ARHTT e T 3T ATT ST R |

d) d= AT

69. TG TS hed el & HatT H o=l sarel ) faar
F{h HiFaT SoTfethehleT (UNCCD):

1. UNCCD TiTaRoT 3R faemma T Tarit 1f weeret & Sisey
Tl Teh TR RIS TS AT &

2. Fearel AT &9 & o, - 3R s 343G &
Y HNTT T &, T 2o 81 & 91 3 STt Aelr 8, STt
SO TIH HHI IR IEGTART T 3R ST bt I1aT ST Hehell
gl

A RUITHS A FT AT T E?

a) hael 1

b) hadl 2

c) 13 2e&r

dyFar13iRk=agr2

70. 3 YU Faehieh (AUH3NTS) & Faer 7 forafaf@d

1. FIUH3MS Fae fafaaTor afafafer 1 v dhae &

2. T€ Teh FLIOT-TTRA 3UTT § ST 3TREIAT3i & 7oA
UEo HO THE SATAHTAeh T I 3= TROT H deord o a1
AISATE

S feu T ISt & & i AT FErg?

a)hddl 1

b) shdel 2

c) 132 gt

d)sTar 13 AEr2
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71. Consider the following statements
with respect to International Seabed
Authority (ISA):

1. The International Seabed Authority is
an autonomous international organization
established under the 1982 United
Nations Convention on the Law of the Sea
2. The Authority, which has its
headquarters in London, England

3. There are one hundred ninety two
members (192) of the International
Seabed Authority

Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d) 1,2 and 3

72. Which of the following multilateral
institution funding the Dam
Rehabilitation and Improvement Project
(DRIP)?

a) World Bank

b) Asian Development Bank

c) AIIB

d) IMF

73. Consider the following statements
with respect to 15th Finance Commission
(FFC) and Terms of Reference:

1. Commission was headed by NK Singh
2. The Commission shall use the
population data of 1971 while making its
recommendations

3. The Commission may consider
proposing measurable performance-based
incentives. for States

Which of the following below given codes
are correct?

a) -l only

b) 1 and 2 only

c) 1 and 3 only

d)1,2and3

74. Consider the following statements with
respect to disaster management:

1. Yokohama strategy plan

2. Hyogo framework action plan

3. Sendai framework plan

Which of the following below given codes
are correct?

a) 1 only

b) 2 and 3 only

c) 1 and 3 only

d) 1,2 and3

75. Which of the following institution
conducts Consumer Confidence Survey?
a) Central Statistical Office

b) National Sample Survey Office

¢) Ministry of Consumer Affairs

d) Reserve Bank of India

76. Consider the following statements with
respect to Inter-governmental Panel on
Climate Change (IPCC):

1. Created in 1988 by the World
Meteorological Organization (WMO) and the
United Nations Environment Programme
(UNEP)

2. The objective of IPCC is to provide
measures and suggestions for global
conservation measures

3. The IPCC is an organization of
governments that are members of the
United Nations or WMO.

Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d) 1,2 and 3
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71, HAUTSET FHET ITTRARIOT (HTSTH) o Heel H
AT FUT )W IR A

1. SeTALTeTol T3 IFATRET Teh FATIA RIS HITSA §
SiY 1982 3 HYEFCT ST TheaReT 3T & T 3HTh & &l o gl
TS fohar arar a7

2. TTRIeROT, TS HenT AEATeTY dieet, STds A §

3. JICRISEIT Heg; YT 0T & Teh &l ofedl &1 HEET (192) &
MR RuavHEt A F T arad ¥

a) shae 1

b) 1328

c) 2 3R 3 shaer

d)1,23R3

72. FAfQET A & i A Tgaaia Team s 9T 3R
U GRAISTAT (DRIP) T faaisor &l 87

a) Tag d+

b) TS faerra

c) UBMS3TSeT

d) 3STATEH

73. 15 9 T 3maeT (VhuwhdT) & Ted A fAeafairad
FHYAT 9T TR Y 3R T & eret:

1. 3TANT T Acfeq Teidh A P W &
2.mmmﬁﬁm§w1971$mm
T 3T AT

3. T U=t o for 3 gof o1 Yeia-3mariRa
WedTee &7 IR fIaR T FehaT &

Y T 7T ISt F T i AT TR 82

a) shad 1

b) 13k 28r

c) a1 3R 3

d) 1,231k 3

74. 3YET Y& & Y & Aeafaf@d =T © o
1. ATPIGTAT 0TI Tl

2. TN haAdh TFAT Tollel

3. HeTs AT Jrslar

A=) T v Pt & F et ar wh 2

a) a1

b) 2 AR 3 &

c) shadl 1 3R 3

d1,23R3

75. T & O PieT AT GEATH 3YHIFAT faRara adayor
AT AT 82

a) eI AITEIHT HIATAT

b) TSERT FHAT FA&IT AT

C) 3YHIFAT ATHAL DT HAATT

d) ARdT Raa d&

76. ST IR U 3eR-TXhRT deTel (MSTE) &
ey 7 frafafd 2« ) faar &

1. faea Atge faare F9res (WMO) 3R Hgerd Ivg
TATEROT FHIHA (UNEP) SaRT 1988 F SATIT 13T

2. IPCC T 36¢?F dfRaeh HI&T0T 3UTal & faiw 3ur 31X
GITd Jelel el §

3. IPCC HhRT T Teh IS § ST TFFcT TS T WMO o
TEET B

Y e aTw st F & i ar T@Er g

a) sad 1

b) 13k 28

c) hael 1 3R 3

d1,23R3
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77. Consider the following statements
with respect to expert committee to review
national Minimum Wages:

1. Committee headed by Dr. Anoop
Sathpathy

2. Committee recommended a Minimum
Wage at Rs-350

3. Committee also recommended different
national minimum wages for different
geographical regions

Which of the following given below codes
are correct?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d)1,2and3

78. SAFAR & MAPANI initiatives related to
which of the following?

a) Air Quality

b) Water Purification

c) Skill Development

d) Sports Development

79. Mangroves For the Future (MFF) was
an initiative of which of the following
institution?

a) IUCN

b) World Bank

c) UNEP

d) GEF

80. Consider the following statements with
respect to Comprehensive Water
Management Index:

1. Index is prepared by ministry of
environment, forest and climate change

2. Gujarat tops the index in 2019

3. Delhi included in index first time in 2019
Which of the following given below codes
are correct?

a) 1 and 2 only

b) 1 and 3 only

c) 2 and 3 only

d) 1,2 and3

81. Which of the following multilateral
institution launched the Special Data
Dissemination Standard (SDDS)?

a) World Economic Forum

b) International Monetary Fund

c) World Bank

d) Asian Development Bank

82. Consider the following statements:

1. Ramosi Peasant Force established by
Vasudev Balwant Phadke

2. Mitra mela organized Chapekar brothers
Which of the following given below codes
are correct?

a) 1 only

2 only

Both 1 and 2

b)
<)
d) Neither 1 nor 2
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77. T wGATH FoTGL! T FHAET el & foT faLrwer

afafd & dee 7 Prafaf@d wyer w e

1. ST0 317 FeTdT & HEFETAT aTell HiATT

2. RAA & 350 TUF T wYATH dcfeT I FABIRET hr
3. afAfa & faffieer sfteanfoes avt & forw srerer-3rerr
TS wAcTH FHIGYr T ot TAoTiRer 1 &

o fow arw ISt 7 @ et @ | 8

a) shad 1

b) 1 AR 2 &

c) shadl 1 3R 3

d)1,23R3

78. SAFAR 3R MAPANI| & 9l eafaf@a & &
a) aTg I IoTar

b) e e

c) ierer fasr T

d) @e A

79. Halieg BR & W= (MFF) Pafaf@d # & fra
AT FI T uger AP

a) ITUCN

b) faeg d&

c) guASH

d) sit.3.uw.

80. SIS SToT JetleT eehich o Hatl H A& et
R foar +L:

1. Feehieh TATEROT, aeT AR STerary IRaciel HTerd gart
IR foRar AT §

2. 2019 # ISRTd Fhih H o FHW &

3. feell @l ggell SR 2019 & Farehish H ATfA fohararar
AT U 7T FIET FH A HiT T@T HET §?

a) dhaer 1 3R 2

b) 1 3R 3 &

¢) 2 3R 3 dhaa

d1,23Rk3

81. farafarad & & fopd sgueh TFam o faRiy Ser R
AAF (SDDS) diea. fomar?

a) faeg snfdmag

b) HRTSEG el Iy

c) g s

d) ufms faera S

82. fFaAfaf@d Fo=il W TR A1

1. AT fhaTeT g7 arged Joldd % arT T faar
RID 1|

2. TAET Aol Bl AT SY3iT 1 Farfod fehar

ST ST 3T FIST H I hieT AT TEr 7

a) a1

b) hdel 2

o) 1 3R 2 gt

d)Tar13R=aTgr2
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83. Consider the following statements
with respect to home rule movement:

1. Tilak set up his Home Rule League in
April 1916 and it was restricted to
Maharashtra (including Bombay city),
Karnataka, Central Provinces and Berar.
2. Annie Besant set up her league in
September 1916 in Madras and covered

the rest of India (excluding Bombay city).

Which of the following below given codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

84. PM Pandit Jawaharlal Nehru had
termed temples of modern Indial with
respect to which of the following?

a) Public Sector Undertakings

b) Khadi and Village Industries

c) Rural industries

d) Agriculture export zones

85. Consider the following statements
with respect to Liberal-Intellectual
Directive Principles:

1. Uniform civil code

2. Organise agriculture and animal
husbandry on modern lines

3. Separate the judiciary from executive
4. Raise the level of nutrition and
standard of living of people

Which of the following given below codes
are correct?

a) 1, 2 and 3 only

b) 1, 2 and 4 only

c) 2, 3.and 4 only

d)-1, 2, 3 and 4

86. Consider the following statements with
respect to Market Intervention Scheme
(MIS):

1. MIS implemented on the request of state
governments

2. MIS applicable to all commodities
Which of the following below given codes
are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

87. Which of the following feature of Indian
constitution is called as Instrument of
Instructionsl?

a) Fundamental Rights

b) Fundamental Duties

c) Directive Principles of State Policy

d) Preamble

88. Which of the following Amendments

comes under Article 368?

1. Simple Majority

2. Special Majority

3. Special Majority with half of the states
ratification

Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d) 1,2 and 3
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83. 7[g Toae 3MTelels & Heer & =i f@d Syt
o &

1. faeres o7 318 1916 39T 81 ol ol TATRAT
forar 31X g #EgRTSE (317 2T digd), Selles, HET Wid
3R R T @fAa @

2. Tl ST o TAdsR 1916 H AG H 379aT olleT TS
&1 3R AT HRT (STF e T BIga) PT HaR T

A foT 91T ISt J & FiT a1 T@@r g?

a) shad 1

b) hdel 2

c) 1 3R 2 gt

daFdarliRagr2

84. NiuH gf3d STaTetaTd ag%® o HFdta@d 7 & fFas
Heer 7 3MeYfoleh HRA o HIEIT T avgr AT?

a) TTaSTfeTeh &7 & 3Ushal

b) @IEr 3R AT

c) IHOT 3ereT

d) $i¥ e e

85. folsRel-geag3iel SRR {Fea NATed & daer &
fafaf@a suat ) faar #iL:

1. gfawie fafder s

2. 3MeYfaTeh Tl IR Y R TRATeIeT T HTATSTeT
3. ~ITUTToIhT T HTIUTToIRT J TSI HLaAT

4. oltait o 9r9or AR Sfael T A gefer

AR U 3T ST H F HlT TG 87
a)l,23IR3&

b) 1, 2 3R 4 &aar

c) shadl 2, 3 3 4

d 1, 2,334

86. IR §EAETT JISTelT (VATSTH) & TaY H fAeaforidd
FYAT I faaR

1. T THRT & R T TANSTH o9 Fohar aram

2. THITSTH Faft aEI3i o ] g € |

A=) T v Pt & F et ar wh 2

a) a1

b) hdel 2

c) 1 3R 2 a=r

daari1iRadr2

87. AR Tfaue $r Prafaf@a [Advar & @ 7
SECHAT 3T ST Gl Sl &2

a) #Fifors IRHER

b) Hiferw weed

¢) U= iif & foicers fgyra

d) JEdTaeT

88, fArfafad & & HleT a1 T Hfoe 368 &
39T 37T g2

1. ATETROT SEAd

2.%a’rcra§mr

3. T3t i el AT & FrY AT qgAT

A fow 91T St F T FiT 77 TEr &?

a) sad 1

b) 13k 28

¢) 2 3R 3 Faa

d1,23R3
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89. Consider the following statements
with respect to Nuclear Doctrine of India:
1. Building and maintaining a credible
minimum deterrent

2. No First-Use policy

3. Nuclear retaliatory attacks can only be
authorized by the Nuclear Command
Authority

Which of the following below given codes
are correct?

a) 1 only

b) 1 and 2 only

c) 1 and 3 only

d) 1,2 and 3

90. COMCASA and CAATSA are recently
in news related to which of the following
given below field?

a) Defence

b) Health

c) Agriculture

d) Environment

91. Consider the following statements
with respect to the powers the Parliament
to make laws on any matter enumerated
in the State List under which of the
following circumstances:

1. When a Rajya Sabha passes a
resolution

2. During Presidents rule

3. During a national emergency

4. When a Lok Sabha passes a resolution
Which of the following below given codes
are correct?

a) 1, 2 and 3 only

b) 1, 3 and 4 only

c) 2, 3.and 4 only

d)-1, 2, 3 and 4

92. 42nd Amendment Act transferred some
subjects from state list to concurrent list.
Which of the following state subjects are
transferred to concurrent list?

1. Education

2. Public health

3. Forests

4. Weights and measures

Which of the following below given codes
are correct?

a) 1, 2 and 3 only

b) 1, 3 and 4 only

c) 2, 3 and 4 only

d 1,2,3and 4

93. Which of the following country initiated
Asia-Africa Growth Corridor (AAGC)?

a) India

b) China

c) USA

d) Russia

94. The government of India launched
Conference, Travel, Exhibition and Popular
lectures (CTEP) to promote which of the
following field?

a) Biotechnology

b) Nuclear technology

c) Nanotechnology

d) Space technology
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89. IR & WA fAeeid & Haer & et =t
R foaR &L

1. Ueh TaREEeAT wgeIct# ST & THAAToT 3R TEwame

2. A BEE gt wiferdr

3. GRAT] YT gaeil Sl shafel GRATY] HTeT T
CART TRl fovam ST Fohell &

A T T FIST F & e AT TEY £

a) shad 1

b) 1328

c) shadl 1 3R 3

d) 1,233

90. COMCASA 3R CAATSA &Tel & & et 7 & foha
&1 § G gATaR 7 §?

a) Y&t

b) TaFLT

c) FY

d) gtazor

91. §HS I el & HaY H fAeraAfaf@d HUAr W
Rrar Ao 5 e Fr T T 3 e R of
HATHS T Flelel FoT1el & forw o1 7 & forwr aRfeufer ot
1. SIS T THT Teh TEATT IR el &

2. Trsgufa emEeT & g

3. U TSERT 3MITdRT o GRTA

4. 519 Ush AThTHT U YEATT IIRT FaT &

A T T ISt F & T AT &7
a)l,23IR3&

b) 1, 3 3R 4 &haar

c) shadl 2, 3 3 4

d 1, 2,334

92. 42 & Haer JTAATH 7 Fo fawdi I Tsg G @
FHRAI Gl H TAEATRA A 82T i@ 7 & wle ar
T T FATAT A H FATATART [T ST 872

1. fover

2. Gt foeh TaTEey

3.9

4. 37T 3R 3uTT

i fEU 91T SISt H & hieT AT TET 62

a)1,23R3&r

b) 1, 3 3{R 4 Shaar

c)&Had 2,334

d)1,2, 334

93. fAsafaf@a & & fora ar o virar-3nfieT My FIRER
(AAGC) ST 3T hT?

a) AR

b) Tt

c) JTaT

d) &

94, {IRA TR o fAFfaf@a A a fFa T drsgrarea &
T @Faerst, ImaT, weeier 3R T saredTa (CTEP) T
QIS feham

a) Sig dieafhr

b) IRHATYT Teheileh

¢) oY SFATATST

d) 37aReT Higafarehr

32




95. Which of the following convention
regulates the international trade of
pesticides and industrial chemicals?
a) Rotterdam Convention

b) Basel Convention

c) Stockholm Convention

d) Bonn Convention

96. Arrange the following National Parks
of India from North to South direction.
1. Indravati National Park

2. Nagarhole National Park

3. Corbett National Park

4. Madhav National Park

Select the correct answer using the code
given below.

a) 1,3,2,4

b) 2,1,4,3

c) 3,4,1,2

d) 2,3,4,1

97. Which of the following river is not a
tributary of Krishna River?

a) Bhima

b) Manjira

c) Malaprabha

d) Musi

98. Match the following dam with rivers:

Dam River
1. Krishna Raja Sagara a. Mahandi
2. Hirakund b. Krishna
3. Nagarjunasagar c. Kaveri
4. Indravati d. Godavari

Select the correct code:
a) 1-c, 2-b, 3-a, 4-d

b) 1-b, 2-a, 3-d, 4-c
c) 1-c, 2-a, 3-b, 4-d
c) 1-b, 2-a, 3-c, 4-d

~

99. Which of the following is a National
Park, UNESCO‘ Natural site, Tiger reserve
and a UNESCQ‘s MAB site?

a) Kaziranga

b) Simlipal

c) Sundarbans

d) Nanda Devi

100. Which of the following convention is
formed to control of Transboundary
Movements of Hazardous Waste and their
Disposal?

a) Basel Convention

b) Rotterdam Convention

c) Stockholm Convention

d) Vienna Convention
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95. fAFATATET # & leT A1 FFATH el iR
e TEEET & AHARTSEY AR i AR FHear
g?
a) JCISH FHoaQlel
b) SH Feale

c) TCIhGIH FHoa2lel
d) STl FeaereT

96. 30X ¥ gf&0T ferm Fr 3R IRA & AFAfaf@a Isdra
3CTeAT ST STGEAT Y|

1. SaTacl TG 3edret

2. ARREIS TSET 3T

3. Fide AT UTh

4. HATUG TS 3T

AT f&T 91T I3 &1 3TN FXeh LT 3T Yo |
a) 1,3,2,4
b) 2,1,4,3
c) 3,4,1,2
d) 2,3,4,1

97. fAF=ATIRd H & il Y AT FTUM AT T HeTah
oTeT TET &P

a) A

b) HIRT

c) HIJAT

d) #Hr

98. AfeAT & Ty FFTA@T I T AT Y

E1)3) sTer
1. SHEUTIST HIN - a. Mahandi
2. ERTH3 b. FSOT
3. ANMSAAER ¢ S
4. Sgrady d. IMerady
TET IS T ITT HY

b) 1-b, 2-a, 3-d, 4-c
c) 1-c, 2-a, 3-b, 4-d
c) 1-b, 2-a, 3-c, 4-d

99. faFafaf@d 7 & Hid | & AT 3T, JeAEH!
Tehicieh T, TGIR NeTd R Teh Jeieh! T MAB T 87
a) SIS

b) fa#eiaTe

¢) HeeeT

d) igr gdr

100. FF=Ifoild & & Sl a1 TFAcled e aTse &
TFEr3sdY qauc 3R 3a A9 &t FafiEa &= & fav
T AT §?

a) 9F FHodAqT

b) AeISH FHeazled

c)ﬁmm‘\’lﬂ

d) fag=r sedere
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